Efficiency vs dr

2 0.05

<
9.045
30.04
c
Q o
D.035¢ -
= o
©0.03f
0.025
0.02f -
0.015f
0.02- {4
0.005E+ -

i
T

1072

M III 1l
Fowpt

o]\
DQM_TT_newbranch

D M_TT original_lowpt,
— M“I'T_newbranch

i

[ Efficiency vs dr (track,jet) |

L

Fowpt pLess

.......

pLess

-1

.§0.02
0.018F
E r
2.016_—
9.014F
> C
9.012F
Q o
(&) .
£ 0.0
(O] F
0.008
0.006F
0.004F
0.002F
1.0

Ratio

[y
TTTT] T

0.95

107

Efficiency vs pu

1072

1
AR(TP, jét)

—0.05
o
9.045
30.04
(]
'9.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

80
Pileup

90 100

1
TP min AR

-1




	Contents
	Page 1


